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Defense against Multi 
Defense is on if 2D shows a weak hand with one major. 
 
2nd position 
a/ DBL  12-15 Bal. or strong. 
 2NT  15-18 bal. 2NT-system on 
b/ Simple bid  Natural  
c/ 3H/S Preemptive 
 4C/D Preemptive 
 
ad a/ 
2D - DBL – PAS/RD –  2M    = Natural 

                      2NT     = Lebensohl  weak with ♣/♦ or invitational with 5♥/♠ 
                                                                                        or to play 3NT 
                       3C       = Natural invitational 
  3D       = GF – often looking for 4-4 fit in M 
  3H/S   = GF 5+ in bid suit  
 
2D - DBL – 2H/S - DBL  = two-way if corr. Penalty if own suit. 
           2S =    Natural NF 
           2NT =    Lebensohl to play 3C/D – or GF with no M 
           3m =   Natural invit. 
           3M =     GF 5+ in bid suit also overbid 2H/3H and 2S/3S 
 
2D - DBL – 2/3NT - DBL  = Points 
            Bid = Natural –forcing 
 
2D - DBL – 3C/D - DBL = Penalty 
           Bid = Natural GF 
 
 
2D - DBL – 3H/S - DBL = Two-way if corr. Penalty if own suit. 
           Bid  = Natural GF 
           Cue = slamgoing    
  
ad/b 
2D - Bid. 
 After 2M other M is cue. If opponent bids, Dbl is points. 
 

After 3m the bidding is natural, however after  
3 in a minor – 3H (natural 5 cards)   
3S is simply looking for 3NT 

 
 4NT = RKCB. 
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After (2D) – 2H – (2S) - PAS,  
         (PAS) -DBL is T/O. Lebensohl is on. 

 
ad/c 
2D - 3 major – Preemptive.  
    4 m is natural and GF 
    3/4 in opposite M is good raise. 
 
4th position 
 
2♦ - PAS - 2x - DBL = Two-way 
                          2NT = 15-18. 2NT-system is on 
     Other bids are natural, including 2♦ - PAS - 2♥ - 3♥  

 

2♦ - PAS - 3♥ - DBL = Two-way  
                            3♠ = Natural 
                       3NT = Natural 

 

2♦ -  PAS - 2x – DBL 
P/2♠ −  DBL is points 
             Other bids Lebensohl 

 

 

6th position 

2♦ -     PAS - 2 MA – PAS 
P/2♠ − DBL =  Take out 
                                            Lebensohl responses. If opp in 7th seat bids, dbl is points 
             2NT      = Minors (5-5) 
             Other bids are natural 

 

 

8th position 

2♦ - PAS - 2♥ - PAS 
2♠ - PAS – PAS - DBL = Take out – Lebensohl responses 
                              2NT = Minors (5-5) evt 5-4 
                              Other bids are natural  
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